X>WZ->ev(qq

BG process | Events + stat + sys | Fraction
W(>ev) +jet | 19774 £+ 155 + 389.1 | 58.96%
QCD bhg 3612 =+ 48 + 722| 10.77%
t thar 3205 + 24 + 320 9.82%
WW 226.1 + 44 + 488 6.74%
Z(>ee) + jet 1539 £+ 32 + 603 4.59%
Single top 914 + 13 + 133 2.72%
W(21v) + jet 855 + 104 + 16.2 2.55%
Wz 456 £+ 11 + 6.5 1.36%
Wy 423 £+ 14 8.2 1.26%
Z21t 36.7 £ 19 + 9.4 1.10%
Ty 27 £ 11 + 1.9 0.08%
zZ 1.7 £ 01 + 0.3 0.05%
W(=2uv) + jet 0 + 0 + 0 0%
Total BG 33540 + 204 + 535.3|100.00%
Observed Data | 3735.0 + 61.1

CDF Run Il Preliminary. [ L dt = 2.9 fb~!




